BmSHATRAERR (SMIFE 255)

SH4F4R1H~GH5E3/318 AE

* IOV TV RE [}, HERMEREOHIRIHASE TERENTVEY,

AEEE O BRIASROREHEESIA(Bq/Kg)
AIERE BB B/IME =P FPAIME
st 2,194 321 127 21 54,447 626
BRIKE 23 0 0 - - -
BREIK 23 0 0 - - -
HEK 23 0 = = =
BIEE 2,035 303 121 21 54,447 639
EMEFR 78 0 0 - - -
TAINTHE 3 0 0 - - -
HhILH 9 0 0 - = =
Hh33%E 2 0 0 - = =
DEIFR 5 0 0 - - -
INVE 8 0 0 - = =
HBZ-LARX 2 0 0 = = =
FIUUH 3 0 0 - = =
YILATHF 1 0 0 - - -
I\gHA 23 0 0 = = =
I\IHA((E15) 1 0 0 - - -
IROLE 8 0 0 - = =
ea 1 0 0 - = =
LAR 5 0 0 - = =
FDTE 1 0 0 - = =
&5 1 0 0 - = =
WIRIHE 2 0 0 - = =
FFIR 1 0 0 = - -
WNOEEE4 1 0 0 - - -
JIRIEE 1 0 0 - - -
i ] 243 0 0 - - -
FEARX 1 0 0 - - -
hJ 9 0 0 - - -
EES 5 0 0 = - -
IR 1 0 0 - - -
HYYA(E 35 0 0 - - -
BT 15 0 0 - - -
SYHMA4E 72 0 0 - - -
239h 1 0 0 - - -
41> 41 0 0 - - -
HAIU(E) 5 0 0 = - -
AIRF 35 0 0 - - -
>3y 12 0 0 - - -
Lhd 2 0 0 - - -
-1 1 0 0 - - -
BRE 1 0 0 - - -
E¥ 6 0 0 - - -
FEE 1 0 0 = = =




BmSHATRAERR (SMIFE 255)

SH4F4R1H~GH5E3/318 AE

* IOV TV RE [}, HERMEREOHIRIHASE TERENTVEY,

AEEE O BRIASROREHEESIA(Bq/Kg)
AIERE BB B/IME =P FPAIME
T3] 779 213 72 21 1,434 131
ymk 0 0 - - -
MR 0 0 - - -
oA 0 0 - - -
BRIV 0 0 - - -
3= 25 1 0 27 27 27
J3 77 5% 32 25 20 40 779 273
3R (EITHY) 0 - - -
1) - - -
o1 1 0 35 35 35
A )* 461 150 45 21 971 114
BT IA* 24 6 0 25 60 40
VZR 0 0 = = =
RIHVET 8 2 0 45 62 54
J+ 55 0 0 - - -
TEIND 1 0 0 = = =
JE+JRo* 15 0 0 - - -
IEF 3 1 0 21 21 21
J5E* 94 18 4 21 286 77
R a4 0 0 = = =
LLIEFE(ZVIR) 4 0 30 30 30
LLIZREA(ZVIR)* 27 8 3 23 1,434 265




BmSHATRAERR (SMIFE 255)

SH4F4R1H~GH5E3/318 AE

* IOV TV RE [}, HERMEREOHIRIHASE TERENTVEY,

AEEE O BRIASROREHEESIA(Bq/Kg)
AIERE BB B/IME =P FPAIME

F*)1% 94 68 45 22 54,447 2,400
F)2(7zH7)* 1 1 1 141 141 141
FI)A(VIRITIRFTAIAD)* 1 1 0 26 26 26
F/2(3954)* 16 16 15 37 54,447 7,987
F/)A(BIFIAD)* 11 5 3 23 1,295 374
F/ACEA5T)* 14 12 8 29 429 214
F/AEAD)* 1 1 1 1,954 1,954 1,954
FIAEVYHIAD)* 1 1 1 179 179 179
F/2(20O3AS)* 1 1 1 120 120 120
F/2(FXa)* 4 3 2 44 274 175
F/(F395)* 9 5 1 22 293 80
FI(\FESHT)* 1 1 0 34 34 34
F/2(E35T)* 4 2 0 22 56 39
F/A(RA57)* 7 3 2 56 318 184
F/2(LF5T)* 9 8 3 24 806 180
F/B(2YIR)* 4 4 4 1,181 12,475 5,120
+/2(z0/\W)* 1 1 0 77 77 77
FJ/A(XRHT)* 1 0 0 - - -
F/AEEINAD)* 1 1 1 4,125 4,125 4,125
F/AROIAD)* 1 1 1 277 277 277
FIAUFTIAD)* 1 0 0 = = =
F/2(HX3) 3 1 1 572 572 572
FJ2(TFHI\WEH)* 1 0 0 = = =
F/2(159%) 1 0 0 - - -




BmERGEAERR (SMAFEE 255T)
SH4F4R1H~GH5E3/318 AE
* EIDRUTVBBBIE. SR BIE ORI TS BRI TLES,

AEER I . BB OREHEES Y A(Bq/Kkg)
AIERE BB B/IME =P FPAIME
B KD 452 16 3 25 756 143
i 3 0 0 = = =
T7oX 0 0 - - -
453 0 0 = = =
1F30 0 0 - - -
X 32 1 0 34 34 34
(/) V) 5 0 0 - - -
h+ 101 2 0 25 32 29
JRR 3 0 0 - = =
RS 1 0 0 - = =
n35F 0 0 - - -
Hhu> 3 0 0 - = =
F4I0—-Y 24 0 0 - - -
For> 11 0 0 - = =
7 28 10 3 27 756 200
= 2 1 0 89 89 89
BN 7 0 0 - = =
H0 4 0 0 - = =
A1H 6 0 0 - = =
A9F 1 0 0 - = =
AEE 1 0 0 = = =
+ 14 0 0 - - =
FYIN\E 2 0 0 - - -
I\ — 2 0 0 - - -
ED 1 0 0 - - -
TRy 3 0 0 - - -
T3 1 0 0 - - -
T—~RY— 14 0 0 - - -
T—-> 1 0 0 - - -
ki~ 0 0 - - -
hy 4 0 0 - - -
XO> 0 0 - - -
Tt 32 0 0 - - -
ax 54 1 0 41 41 41
IRASUA 2 0 0 - - -
IR 0 0 - - -
>3 64 0 0 - - -
LE> 1 0 0 - - -
g3h> 1 0 0 - - -
WFHHF 1 0 0 = - -
BIRI(E) 6 0 0 - - -
EFS 2 0 0 - - -
FadlL—M1)— 1 0 0 - - -
R>4H1) 1 1 0 60 60 60




BmSHATRAERR (SMIFE 255)

SH4F4R1H~GH5E3/318 AE

* IOV TV RE [}, HERMEREOHIRIHASE TERENTVEY,

AEEE O BRIASROREHEESIA(Bq/Kg)
AIERE BB B/IME =P FPAIME
258 67 3 0 21 51 31
HY->E-2X 2 0 0 - - -
B8y 13 0 0 - - =
HIRY 5 0 0 - - -
ZFVTIIRY 6 0 0 - = =
YIIA 2 0 0 - - -
OV 1 0 0 - - -
Fa=1 1 0 0 - - -
g9 4 1 0 51 51 51
&2 14 0 0 - - -
=) 3 0 0 - - -
BlIre=E 4 1 0 21 21 21
=2 4 1 0 21 21 21
SH(IWIR) 1 0 0 = = =
ETEE 7 0 0 = = =
5 0 0 - - -
JA(ZEK) (RAEE) 3 0 0 = = =
TA(EIK) (RAEE) 2 0 0 = = =




BmSHATRAERR (SMIFE 255)

SH4F4R1H~GH5E3/318 AE

* IOV TV RE [}, HERMEREOHIRIHASE TERENTVEY,

AEEE O BRIASROREHEESIA(Bq/Kg)
AIERE BB B/IME =P FPAIME
TOMDEFRIE 317 3 1 21 208 108
T7HYE 8 0 0 - = =
A3 4 0 0 - = =
HIRFv 42 0 0 - = =
HhUI79- 3 0 0 - - -
FrRY 20 0 0 = = =
F317Y) 47 0 0 - = =
JI-v 14 0 0 = = =
33 MIHSY 4 0 0 - - -
SY(FRVY) 4 2 1 95 208 152
AyF—— 3 0 0 = = =
YN(ZE) 1 0 0 - = =
hIH53 2 0 0 = - -
~J'EOJ> 5 0 0 = = =
4 10 0 0 - = =
rMEZRRN) 8 0 0 - - -
+R 27 0 0 - - =
-3 5 0 0 = = =
>y 7 0 0 = = =
bty ()= 1 0 0 - = =
ACES R DY ad 1 0 0 - - -
VAwily;| 2 0 0 = = =
J\Y7 Y 5 0 0 - - -
E-<> 11 0 0 - - -
Joyay— 8 0 0 - - -
YN 1 0 0 - - -
394 21 0 0 - - -
FON Y 1 0 0 - - -
JHE 1 0 0 - - -
TEz39H 1 0 0 = - -
EoHt 1 0 0 - - -
=Jovay— 1 0 0 - - -
BATY 7 1 0 21 21 21
Bx+ 13 0 0 - - -
BFEA(TYIR) 22 0 0 = = -
EHvrE 2 0 0 = = =
BEXF 1 0 0 - - -
IS5 1 0 0 - - -
NIH> 2 0 0 - - -
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SH4F4R1H~GH5E3/318 AE

* IOV TV RE [}, HERMEREOHIRIHASE TERENTVEY,
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